	District Level										est Score						
				#	A	#	AA %	#	B %	#	C %	#	D %	#	E %	#	U %
Subject Name				Ü	70	n e	70	"	70	"	70	"	70	"	70	"	70
ACCOUNTING	St Count AA-E	% AA-E 18.18%	Total Students per Subtest 11	0	0%	0	0%	0	0%	0	0%	0	0%	2	18.18%	9	81.82%
ACCOUNTING A LVL	2	100.00%	2	0	0%	0	0%	0	0%	1	50.00%	1	50.00%	0	0%	0	0%
ART and DESIGN -A LVL	2	100.00%	2	0	0%	0	0%	0	0%	0	0%	0	0%	2	100.00%	0	0%
ART and DESIGN AS LVL	66	64.08%	103	2	1.94%	0	0%	8	7.77%	5	4.85%	23	22.33%	28	27.18%	37	35.92%
BIOLOGY	143	57.43%	249	1	0.40%	0	0%	7	2.81%	31	12.45%	44	17.67%	60	24.10%	106	42.57%
BIOLOGY 2	32	100.00%	32	1	3.12%	0	0%	11	34.38%	12	37.50%	3	9.38%	5	15.62%	0	0%
BUSINESS	36	100.00%	36	3	8.33%	0	0%	5	13.89%	4	11.11%	14	38.89%	10	27.78%	0	0%
BUSINESS STUDIES- AS LVL	309	48.51%	637	20	3.14%	0	0%	41	6.44%	81	12.72%	81	12.72%	86	13.50%	329	51.65%
CHEMISTRY	78	70.91%	110	5	4.55%	0	0%	8	7.27%	13	11.82%	19	17.27%	33	30.00%	32	29.09%
CLASSICAL STUDIES	94	62.67%	150	8	5.33%	0	0%	10	6.67%	20	13.33%	19	12.67%	37	24.67%	56	37.33%
CLASSICAL STUDIES-A LEVEL	59	100.00%	59	8	13.56%	1	1.69%	11	18.64%	17	28.81%	13	22.03%	9	15.25%	0	0%
COMP SCI-A LEVEL	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%
COMP SCI-AS LEVEL	14	17.95%	78	2	2.56%	0	0%	1	1.28%	1	1.28%	4	5.13%	6	7.69%	64	82.05%
DESIGN & TECHNOLOGY	15	65.22%	23	0	0%	0	0%	0	0%	1	4.35%	3	13.04%	11	47.83%	8	34.78%
DIGITAL MEDIA AND DESIGN	195	82.98%	235	6	2.55%	0	0%	19	8.09%	31	13.19%	78	33.19%	61	25.96%	40	17.02%
ENGLISH GENERAL PAPER	6560	84.77%	7739	874	11.29%	0	0%	1,094	14.14%	1,586	20.49%	1,725	22.29%	1,281	16.55%	1,179	15.23%
ENGLISH LANGUAGE - A LEVEL	331	100.00%	331	17	5.14%	2	0.60%	38	11.48%	69	20.85%	101	30.51%	104	31.42%	0	0%
ENGLISH LANGUAGE - AS LEVEL	3878	77.10%	5030	317	6.30%	0	0%	534	10.62%	944	18.77%	1,145	22.76%	939	18.67%	1,154	22.94%
ENVIROMENTAL MANAGEMENT	646	89.97%	718	95	13.23%	0	0%	148	20.61%	178	24.79%	148	20.61%	77	10.72%	72	10.03%
FRENCH- AS LVL	49	73.13%	67	11	16.42%	0	0%	9	13.43%	9	13.43%	9	13.43%	11	16.42%	18	26.87%
GEOGRAPHY	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
GLOBAL PERSPEC & RESEAR 1	2343	93.35%	2510	458	18.25%	0	0%	596	23.75%	670	26.69%	390	15.54%	229	9.12%	167	6.65%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	341	100.00%	341	66	19.35%	84	24.63%	101	29.62%	58	17.01%	28	8.21%	4	1.17%	0	0%
HISTORY- A Level	86	100.00%	86	0	0%	0	0%	5	5.81%	13	15.12%	38	44.19%	30	34.88%	0	0%
HISTORY- AS Level	2933	56.40%	5200	104	2.00%	0	0%	386	7.42%	633	12.17%	864	16.62%	951	18.29%	2,283	43.90%
INFORMATION TECHNOLOGY	11	34.38%	32	0	0%	0	0%	0	0%	3	9.38%	3	9.38%	5	15.62%	21	65.62%
LANGUAGE	237	100.00%	237	7	2.95%	1	0.42%	24	10.13%	87	36.71%	77	32.49%	41	17.30%	0	0%
LITERATURE	2039	74.74%	2728	113	4.14%	0	0%	174	6.38%	457	16.75%	663	24.30%	632	23.17%	689	25.26%
MARINE SCIENCE- A LVL	651	100.00%	651	42	6.45%	2	0.31%	84	12.90%	160	24.58%	201	30.88%	162	24.88%	0	0%
MARINE SCIENCE- AS LVL	1728	69.87%	2473	140	5.66%	0	0%	254	10.27%	374	15.12%	438	17.71%	522	21.11%	748	30.25%
MATHEMATICS	354	63.10%	561	37	6.60%	0	0%	41	7.31%	82	14.62%	82	14.62%	112	19.96%	207	36.90%
MEDIA STUDIES-A LVL	6	100.00%	6	0	0%	0	0%	2	33.33%	0	0%	2	33.33%	2	33.33%	0	0%
MEDIA STUDIES-AS LVL	659	75.92%	868	17	1.96%	0	0%	88	10.14%	170	19.59%	206	23.73%	178	20.51%	209	24.08%
MUSIC	6	54.55%	11	0	0%	0	0%	0	0%	0	0%	1	9.09%	5	45.45%	5	45.45%
PHYSICAL EDUCATION	50	37.31%	134	1	0.75%	0	0%	3	2.24%	7	5.22%	11	8.21%	28	20.90%	84	62.69%
PHYSICS	12	38.71%	31	3	9.68%	0	0%	0	0%	0	0%	3	9.68%	6	19.35%	19	61.29%

	District Leve	<u> </u>									Test Score	s					
	2.00.100.200				Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
PORTUGUESE-LANG	18	100.00%	18	10	55.56%	0	0%	6	33.33%	1	5.56%	1	5.56%	0	0%	0	0%
PSYCHOLOGY - A Level	43	100.00%	43	0	0%	0	0%	2	4.65%	10	23.26%	15	34.88%	16	37.21%	0	0%
PSYCHOLOGY - AS Level	760	55.72%	1364	81	5.94%	0	0%	90	6.60%	155	11.36%	191	14.00%	243	17.82%	604	44.28%
SOCIOLOGY - AS Level	276	52.67%	524	44	8.40%	0	0%	48	9.16%	60	11.45%	64	12.21%	60	11.45%	248	47.33%
SOCIOLOGY A Lvl	118	100.00%	118	9	7.63%	5	4.24%	16	13.56%	22	18.64%	38	32.20%	28	23.73%	0	0%
SPANISH	706	96.84%	729	334	45.82%	0	0%	151	20.71%	108	14.81%	74	10.15%	39	5.35%	23	3.16%
SPANISH LITERATURE	57	65.52%	87	10	11.49%	0	0%	14	16.09%	18	20.69%	11	12.64%	4	4.60%	30	34.48%
SPANISH- A LEVEL	81	100.00%	81	19	23.46%	6	7.41%	38	46.91%	11	13.58%	4	4.94%	3	3.70%	0	0%
THINKING SKILLS - A Level	56	100.00%	56	9	16.07%	1	1.79%	7	12.50%	11	19.64%	17	30.36%	11	19.64%	0	0%
THINKING SKILLS - AS Level	759	78.25%	970	55	5.67%	0	0%	86	8.87%	160	16.49%	216	22.27%	242	24.95%	212	21.86%
TRAVEL & TOURISM 1	713	71.66%	995	68	6.83%	0	0%	110	11.06%	176	17.69%	179	17.99%	180	18.09%	282	28.34%
TRAVEL & TOURISM 2	244	100.00%	244	5	2.05%	0	0%	22	9.02%	54	22.13%	85	34.84%	78	31.97%	0	0%

0081Jupiter	High										Test Score	:S					
						#	AA	#	B	#	C %	#	D %	#	E %	#	U %
				#	%	#	%	#	%	#	%	#	%	#	%	#	<u> </u>
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BUSINESS STUDIES- AS LVL	8	44.44%	18	1	5.56%	0	0%	2	11.11%	2	11.11%	0	0%	3	16.67%	10	55.56%
CLASSICAL STUDIES	51	61.45%	83	5	6.02%	0	0%	8	9.64%	12	14.46%	10	12.05%	16	19.28%	32	38.55%
COMP SCI-AS LEVEL	7	63.64%	11	1	9.09%	0	0%	0	0%	0	0%	3	27.27%	3	27.27%	4	36.36%
DIGITAL MEDIA AND DESIGN	108	91.53%	118	3	2.54%	0	0%	13	11.02%	16	13.56%	43	36.44%	33	27.97%	10	8.47%
ENGLISH GENERAL PAPER	337	88.45%	381	68	17.85%	0	0%	60	15.75%	94	24.67%	77	20.21%	38	9.97%	44	11.55%
ENGLISH LANGUAGE - AS LEVEL	455	89.92%	506	70	13.83%	0	0%	91	17.98%	111	21.94%	106	20.95%	77	15.22%	51	10.08%
ENVIROMENTAL MANAGEMENT	84	93.33%	90	7	7.78%	0	0%	25	27.78%	26	28.89%	17	18.89%	9	10.00%	6	6.67%
GEOGRAPHY	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
GLOBAL PERSPEC & RESEAR 1	318	97.55%	326	55	16.87%	0	0%	78	23.93%	101	30.98%	58	17.79%	26	7.98%	8	2.45%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	69	100.00%	69	0	0%	2	2.90%	32	46.38%	19	27.54%	14	20.29%	2	2.90%	0	0%
HISTORY- AS Level	425	71.91%	591	34	5.75%	0	0%	83	14.04%	95	16.07%	121	20.47%	92	15.57%	164	27.75%
INFORMATION TECHNOLOGY	11	34.38%	32	0	0%	0	0%	0	0%	3	9.38%	3	9.38%	5	15.62%	21	65.62%
LITERATURE	249	68.98%	361	4	1.11%	0	0%	11	3.05%	60	16.62%	78	21.61%	96	26.59%	112	31.02%
MARINE SCIENCE- A LVL	43	100.00%	43	5	11.63%	0	0%	10	23.26%	14	32.56%	9	20.93%	5	11.63%	0	0%
MARINE SCIENCE- AS LVL	198	90.00%	220	21	9.55%	0	0%	40	18.18%	50	22.73%	44	20.00%	43	19.55%	22	10.00%
MATHEMATICS	35	77.78%	45	8	17.78%	0	0%	6	13.33%	8	17.78%	6	13.33%	7	15.56%	10	22.22%
MEDIA STUDIES-A LVL	5	100.00%	5	0	0%	0	0%	2	40.00%	0	0%	1	20.00%	2	40.00%	0	0%
MEDIA STUDIES-AS LVL	58	89.23%	65	4	6.15%	0	0%	12	18.46%	13	20.00%	21	32.31%	8	12.31%	7	10.77%
PSYCHOLOGY - AS Level	50	53.76%	93	4	4.30%	0	0%	5	5.38%	11	11.83%	13	13.98%	17	18.28%	43	46.24%
SOCIOLOGY - AS Level	1	33.33%	3	0	0%	0	0%	0	0%	0	0%	0	0%	1	33.33%	2	66.67%
SPANISH	12	100.00%	12	3	25.00%	0	0%	4	33.33%	2	16.67%	3	25.00%	0	0%	0	0%
THINKING SKILLS - AS Level	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%
TRAVEL & TOURISM 1	148	93.08%	159	23	14.47%	0	0%	28	17.61%	39	24.53%	26	16.35%	32	20.13%	11	6.92%

0691L	ake Worth High								Test	Scor	es				
	3				Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BIOLOGY	3	21.43%	14	0	0%	0	0%	0	0%	0	0%	3	21.43%	11	78.57%
ENGLISH GENERAL PAPER	194	62.38%	311	4	1.29%	12	3.86%	36	11.58%	59	18.97%	83	26.69%	117	37.62%
ENGLISH LANGUAGE - A LEVEL	52	100.00%	52	0	0%	0	0%	2	3.85%	16	30.77%	34	65.38%	0	0%
ENGLISH LANGUAGE - AS LEVEL	64	41.56%	154	0	0%	3	1.95%	10	6.49%	17	11.04%	34	22.08%	90	58.44%
FRENCH- AS LVL	9	60.00%	15	2	13.33%	1	6.67%	3	20.00%	2	13.33%	1	6.67%	6	40.00%
GLOBAL PERSPEC & RESEAR 1	17	77.27%	22	0	0%	0	0%	3	13.64%	10	45.45%	4	18.18%	5	22.73%
HISTORY- AS Level	82	29.60%	277	0	0%	5	1.81%	8	2.89%	26	9.39%	43	15.52%	195	70.40%
MARINE SCIENCE- AS LVL	19	70.37%	27	0	0%	3	11.11%	6	22.22%	3	11.11%	7	25.93%	8	29.63%
MATHEMATICS	0	0.00%	10	0	0%	0	0%	0	0%	0	0%	0	0%	10	100.00%
PHYSICAL EDUCATION	5	26.32%	19	0	0%	0	0%	0	0%	0	0%	5	26.32%	14	73.68%
SPANISH	98	94.23%	104	38	36.54%	21	20.19%	18	17.31%	13	12.50%	8	7.69%	6	5.77%
SPANISH LITERATURE	10	40.00%	25	0	0%	0	0%	4	16.00%	4	16.00%	2	8.00%	15	60.00%

0862-	-Atlantic High								Test S	core	S				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
CHEMISTRY	26	59.09%	44	0	0%	1	2.27%	0	0%	4	9.09%	21	47.73%	18	40.91%
ENGLISH GENERAL PAPER	193	90.19%	214	35	16.36%	35	16.36%	42	19.63%	51	23.83%	30	14.02%	21	9.81%
ENGLISH LANGUAGE - AS LEVEL	65	57.02%	114	0	0%	7	6.14%	11	9.65%	24	21.05%	23	20.18%	49	42.98%
HISTORY- AS Level	40	39.22%	102	0	0%	3	2.94%	5	4.90%	11	10.78%	21	20.59%	62	60.78%
LITERATURE	82	66.13%	124	2	1.61%	6	4.84%	7	5.65%	24	19.35%	43	34.68%	42	33.87%
MARINE SCIENCE- AS LVL	24	68.57%	35	1	2.86%	0	0%	6	17.14%	6	17.14%	11	31.43%	11	31.43%
MATHEMATICS	5	71.43%	7	0	0%	0	0%	1	14.29%	0	0%	4	57.14%	2	28.57%

0961Boca Ra	aton High									Te	est Scores						
3551 2564 144					A		AA	"	В		C	,,,	D		E	"-	U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BIOLOGY	102	72.86%	140	1	0.71%	0	0%	4	2.86%	20	14.29%	35	25.00%	42	30.00%	38	27.14%
BIOLOGY 2	22	100.00%	22	1	4.55%	0	0%	8	36.36%	10	45.45%	2	9.09%	1	4.55%	0	0%
BUSINESS STUDIES- AS LVL	59	57.84%	102	3	2.94%	0	0%	11	10.78%	17	16.67%	12	11.76%	16	15.69%	43	42.16%
CHEMISTRY	29	96.67%	30	5	16.67%	0	0%	6	20.00%	9	30.00%	4	13.33%	5	16.67%	1	3.33%
DIGITAL MEDIA AND DESIGN	30	96.77%	31	0	0%	0	0%	3	9.68%	6	19.35%	14	45.16%	7	22.58%	1	3.23%
ENGLISH GENERAL PAPER	467	90.33%	517	78	15.09%	0	0%	67	12.96%	128	24.76%	109	21.08%	85	16.44%	50	9.67%
ENGLISH LANGUAGE - AS LEVEL	389	80.21%	485	26	5.36%	0	0%	58	11.96%	86	17.73%	129	26.60%	90	18.56%	96	19.79%
ENVIROMENTAL MANAGEMENT	19	79.17%	24	0	0%	0	0%	4	16.67%	4	16.67%	7	29.17%	4	16.67%	5	20.83%
FRENCH- AS LVL	6	100.00%	6	2	33.33%	0	0%	1	16.67%	1	16.67%	2	33.33%	0	0%	0	0%
GLOBAL PERSPEC & RESEAR 1	360	82.00%	439	27	6.15%	0	0%	55	12.53%	111	25.28%	100	22.78%	67	15.26%	79	18.00%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	220	100.00%	220	60	27.27%	76	34.55%	52	23.64%	24	10.91%	8	3.64%	0	0%	0	0%
HISTORY- AS Level	422	60.55%	697	5	0.72%	0	0%	37	5.31%	110	15.78%	124	17.79%	146	20.95%	280	40.17%
LITERATURE	60	69.77%	86	2	2.33%	0	0%	2	2.33%	6	6.98%	30	34.88%	20	23.26%	26	30.23%
MARINE SCIENCE- AS LVL	280	77.13%	363	36	9.92%	0	0%	51	14.05%	59	16.25%	65	17.91%	69	19.01%	84	23.14%
MATHEMATICS	56	70.00%	80	0	0%	0	0%	3	3.75%	14	17.50%	15	18.75%	24	30.00%	24	30.00%
MEDIA STUDIES-AS LVL	214	77.54%	276	2	0.72%	0	0%	11	3.99%	50	18.12%	81	29.35%	70	25.36%	62	22.46%
PHYSICAL EDUCATION	4	23.53%	17	0	0%	0	0%	0	0%	1	5.88%	2	11.76%	1	5.88%	13	76.47%
PORTUGUESE-LANG	18	100.00%	18	10	55.56%	0	0%	6	33.33%	1	5.56%	1	5.56%	0	0%	0	0%
PSYCHOLOGY - AS Level	160	53.33%	300	13	4.33%	0	0%	19	6.33%	36	12.00%	43	14.33%	49	16.33%	140	46.67%
SOCIOLOGY - AS Level	8	27.59%	29	0	0%	0	0%	0	0%	0	0%	2	6.90%	6	20.69%	21	72.41%
SOCIOLOGY A Lvl	24	100.00%	24	1	4.17%	1	4.17%	2	8.33%	6	25.00%	7	29.17%	7	29.17%	0	0%
SPANISH	52	100.00%	52	28	53.85%	0	0%	9	17.31%	6	11.54%	8	15.38%	1	1.92%	0	0%
THINKING SKILLS - AS Level	86	87.76%	98	5	5.10%	0	0%	10	10.20%	20	20.41%	29	29.59%	22	22.45%	12	12.24%
TRAVEL & TOURISM 1	217	75.35%	288	14	4.86%	0	0%	37	12.85%	58	20.14%	56	19.44%	52	18.06%	71	24.65%

1361John I. L	eonard High										Test Scor	es					
	5			#	A %	#	AA %	#	B %	#	C %	#	D %	#	E %	#	U %
Subject Name				#	76	#	76	#	76	#	76	#	76	#	76	#	76
·	St Count AA-E	% AA-E															
ART and DESIGN -A LVL	2	100.00%	2	0	0%	0	0%	0	0%	0	0%	0	0%	2	100.00%	0	0%
ART and DESIGN AS LVL	6	42.86%	14	0	0%	0	0%	0	0%	0	0%	2	14.29%	4	28.57%	8	57.14%
BUSINESS STUDIES- AS LVL	4	33.33%	12	0	0%	0	0%	0	0%	0	0%	2	16.67%	2	16.67%	8	66.67%
COMP SCI-A LEVEL	1	100.00%	1	0	0%	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%
COMP SCI-AS LEVEL	0	0.00%	5	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	5	100.00%
ENGLISH GENERAL PAPER	306	74.09%	413	12	2.91%	0	0%	36	8.72%	62	15.01%	97	23.49%	99	23.97%	107	25.91%
ENGLISH LANGUAGE - A LEVEL	2	100.00%	2	0	0%	0	0%	0	0%	1	50.00%	0	0%	1	50.00%	0	0%
ENGLISH LANGUAGE - AS LEVEL	209	60.93%	343	2	0.58%	0	0%	19	5.54%	46	13.41%	69	20.12%	73	21.28%	134	39.07%
ENVIROMENTAL MANAGEMENT	29	74.36%	39	1	2.56%	0	0%	1	2.56%	6	15.38%	10	25.64%	11	28.21%	10	25.64%
FRENCH- AS LVL	7	77.78%	9	2	22.22%	0	0%	2	22.22%	0	0%	2	22.22%	1	11.11%	2	22.22%
GLOBAL PERSPEC & RESEAR 1	159	85.48%	186	10	5.38%	0	0%	23	12.37%	49	26.34%	45	24.19%	32	17.20%	27	14.52%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	3	100.00%	3	0	0%	0	0%	1	33.33%	0	0%	1	33.33%	1	33.33%	0	0%
HISTORY- AS Level	225	37.63%	598	3	0.50%	0	0%	18	3.01%	32	5.35%	66	11.04%	106	17.73%	377	63.04%
LITERATURE	147	68.69%	214	1	0.47%	0	0%	6	2.80%	29	13.55%	48	22.43%	63	29.44%	67	31.31%
MARINE SCIENCE- AS LVL	119	77.27%	154	13	8.44%	0	0%	18	11.69%	36	23.38%	25	16.23%	27	17.53%	35	22.73%
MATHEMATICS	15	34.09%	44	0	0%	0	0%	0	0%	2	4.55%	3	6.82%	10	22.73%	29	65.91%
PHYSICAL EDUCATION	5	17.86%	28	0	0%	0	0%	0	0%	0	0%	0	0%	5	17.86%	23	82.14%
PSYCHOLOGY - AS Level	21	20.00%	105	0	0%	0	0%	0	0%	2	1.90%	9	8.57%	10	9.52%	84	80.00%
SPANISH	162	100.00%	162	123	75.93%	0	0%	26	16.05%	8	4.94%	5	3.09%	0	0%	0	0%
SPANISH- A LEVEL	81	100.00%	81	19	23.46%	6	7.41%	38	46.91%	11	13.58%	4	4.94%	3	3.70%	0	0%
THINKING SKILLS - AS Level	78	57.35%	136	2	1.47%	0	0%	5	3.68%	9	6.62%	16	11.76%	46	33.82%	59	43.38%
TRAVEL & TOURISM 1	43	36.75%	117	1	0.85%	0	0%	1	0.85%	6	5.13%	10	8.55%	25	21.37%	74	63.25%
TRAVEL & TOURISM 2	67	100.00%	67	0	0%	0	0%	5	7.46%	9	13.43%	31	46.27%	22	32.84%	0	0%

1371—Pal	lm Beach Gardens High								Test S	core	S				
					Α		В		С		D		E		U
				#	%	#	<u>%</u>	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
DIGITAL MEDIA AND DESIGN	13	81.25%	16	0	0%	1	6.25%	2	12.50%	3	18.75%	7	43.75%	3	18.75%
ENGLISH GENERAL PAPER	227	91.53%	248	16	6.45%	30	12.10%	54	21.77%	77	31.05%	50	20.16%	21	8.47%
ENGLISH LANGUAGE - AS LEVEL	81	77.88%	104	3	2.88%	12	11.54%	27	25.96%	25	24.04%	14	13.46%	23	22.12%
GLOBAL PERSPEC & RESEAR 1	32	100.00%	32	12	37.50%	12	37.50%	7	21.88%	1	3.12%	0	0%	0	0%
HISTORY- AS Level	47	50.00%	94	0	0%	6	6.38%	11	11.70%	16	17.02%	14	14.89%	47	50.00%
LITERATURE	37	80.43%	46	0	0%	3	6.52%	10	21.74%	12	26.09%	12	26.09%	9	19.57%
MARINE SCIENCE- AS LVL	32	54.24%	59	1	1.69%	3	5.08%	4	6.78%	12	20.34%	12	20.34%	27	45.76%
PSYCHOLOGY - AS Level	12	52.17%	23	0	0%	2	8.70%	1	4.35%	2	8.70%	7	30.43%	11	47.83%
THINKING SKILLS - AS Level	120	75.95%	158	4	2.53%	7	4.43%	19	12.03%	44	27.85%	46	29.11%	38	24.05%
TRAVEL & TOURISM 1	11	57.89%	19	0	0%	4	21.05%	2	10.53%	3	15.79%	2	10.53%	8	42.11%

1611S	antaluces High								Tes	: Score	es				
-					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
DIGITAL MEDIA AND DESIGN	11	91.67%	12	1	8.33%	0	0%	1	8.33%	6	50.00%	3	25.00%	1	8.33%
ENGLISH GENERAL PAPER	464	64.71%	717	10	1.39%	27	3.77%	84	11.72%	171	23.85%	172	23.99%	253	35.29
ENGLISH LANGUAGE - AS LEVEL	131	59.01%	222	3	1.35%	9	4.05%	32	14.41%	37	16.67%	50	22.52%	91	40.99
ENVIROMENTAL MANAGEMENT	19	50.00%	38	0	0%	2	5.26%	7	18.42%	3	7.89%	7	18.42%	19	50.009
FRENCH- AS LVL	7	77.78%	9	2	22.22%	2	22.22%	1	11.11%	0	0%	2	22.22%	2	22.229
GLOBAL PERSPEC & RESEAR 1	59	100.00%	59	7	11.86%	17	28.81%	19	32.20%	10	16.95%	6	10.17%	0	0%
HISTORY- AS Level	52	46.02%	113	2	1.77%	5	4.42%	6	5.31%	16	14.16%	23	20.35%	61	53.989
LANGUAGE	60	100.00%	60	3	5.00%	3	5.00%	25	41.67%	17	28.33%	12	20.00%	0	0%
LITERATURE	89	69.53%	128	3	2.34%	9	7.03%	26	20.31%	23	17.97%	28	21.88%	39	30.479
MARINE SCIENCE- AS LVL	47	53.41%	88	2	2.27%	6	6.82%	8	9.09%	9	10.23%	22	25.00%	41	46.599
MUSIC	6	54.55%	11	0	0%	0	0%	0	0%	1	9.09%	5	45.45%	5	45.459
PHYSICAL EDUCATION	5	22.73%	22	0	0%	0	0%	0	0%	3	13.64%	2	9.09%	17	77.27
PSYCHOLOGY - AS Level	33	51.56%	64	1	1.56%	2	3.12%	3	4.69%	10	15.62%	17	26.56%	31	48.449
SPANISH	24	100.00%	24	10	41.67%	6	25.00%	3	12.50%	3	12.50%	2	8.33%	0	0%
THINKING SKILLS - AS Level	48	81.36%	59	2	3.39%	8	13.56%	7	11.86%	18	30.51%	13	22.03%	11	18.649

1681Si	panish River High									Te	est Scores						
				Α		AA		В		С		D		E		U	
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ACCOUNTING	2	18.18%	11	0	0%	0	0%	0	0%	0	0%	0	0%	2	18.18%	9	81.82%
ACCOUNTING A LVL	2	100.00%	2	0	0%	0	0%	0	0%	1	50.00%	1	50.00%	0	0%	0	0%
BIOLOGY	13	54.17%	24	0	0%	0	0%	1	4.17%	4	16.67%	2	8.33%	6	25.00%	11	45.83%
BUSINESS	26	100.00%	26	3	11.54%	0	0%	4	15.38%	4	15.38%	9	34.62%	6	23.08%	0	0%
BUSINESS STUDIES- AS LVL	81	60.45%	134	4	2.99%	0	0%	10	7.46%	24	17.91%	25	18.66%	18	13.43%	53	39.55%
ENGLISH GENERAL PAPER	459	93.67%	490	70	14.29%	0	0%	90	18.37%	122	24.90%	123	25.10%	54	11.02%	31	6.33%
ENGLISH LANGUAGE - AS LEVEL	163	99.39%	164	17	10.37%	0	0%	25	15.24%	55	33.54%	35	21.34%	31	18.90%	1	0.61%
GLOBAL PERSPEC & RESEAR 1	69	100.00%	69	10	14.49%	0	0%	21	30.43%	24	34.78%	7	10.14%	7	10.14%	0	0%
HISTORY- AS Level	105	63.25%	166	6	3.61%	0	0%	17	10.24%	22	13.25%	32	19.28%	28	16.87%	61	36.75%
LITERATURE	66	70.97%	93	0	0%	0	0%	2	2.15%	8	8.60%	24	25.81%	32	34.41%	27	29.03%
MARINE SCIENCE- A LVL	136	100.00%	136	10	7.35%	0	0%	8	5.88%	23	16.91%	49	36.03%	46	33.82%	0	0%
MARINE SCIENCE- AS LVL	25	29.41%	85	0	0%	0	0%	0	0%	1	1.18%	0	0%	24	28.24%	60	70.59%
MEDIA STUDIES-AS LVL	24	96.00%	25	1	4.00%	0	0%	4	16.00%	7	28.00%	8	32.00%	4	16.00%	1	4.00%
SOCIOLOGY - AS Level	2	50.00%	4	0	0%	0	0%	0	0%	0	0%	0	0%	2	50.00%	2	50.00%
SOCIOLOGY A Lvl	29	100.00%	29	3	10.34%	2	6.90%	4	13.79%	6	20.69%	10	34.48%	4	13.79%	0	0%
THINKING SKILLS - A Level	20	100.00%	20	4	20.00%	0	0%	7	35.00%	3	15.00%	4	20.00%	2	10.00%	0	0%
THINKING SKILLS - AS Level	7	100.00%	7	1	14.29%	0	0%	1	14.29%	2	28.57%	2	28.57%	1	14.29%	0	0%
TRAVEL & TOURISM 1	12	40.00%	30	0	0%	0	0%	0	0%	0	0%	3	10.00%	9	30.00%	18	60.00%
TRAVEL & TOURISM 2	112	100.00%	112	0	0%	0	0%	7	6.25%	24	21.43%	39	34.82%	42	37.50%	0	0%

1851Pa	lm Beach Lakes High								Test	Sco	res				
1991 1.2					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ENGLISH GENERAL PAPER	44	91.67%	48	5	10.42%	6	12.50%	15	31.25%	9	18.75%	9	18.75%	4	8.33%
ENGLISH LANGUAGE - AS LEVEL	8	28.57%	28	0	0%	1	3.57%	0	0%	3	10.71%	4	14.29%	20	71.43%
FRENCH- AS LVL	8	66.67%	12	0	0%	1	8.33%	2	16.67%	1	8.33%	4	33.33%	4	33.33%
GLOBAL PERSPEC & RESEAR 1	8	88.89%	9	1	11.11%	3	33.33%	2	22.22%	1	11.11%	1	11.11%	1	11.11%
HISTORY- AS Level	35	47.95%	73	2	2.74%	5	6.85%	7	9.59%	9	12.33%	12	16.44%	38	52.05%
LITERATURE	6	28.57%	21	0	0%	0	0%	1	4.76%	2	9.52%	3	14.29%	15	71.43%
MARINE SCIENCE- AS LVL	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
PSYCHOLOGY - AS Level	9	47.37%	19	0	0%	0	0%	1	5.26%	5	26.32%	3	15.79%	10	52.63%
SPANISH	10	100.00%	10	5	50.00%	4	40.00%	1	10.00%	0	0%	0	0%	0	0%
TRAVEL & TOURISM 1	6	46.15%	13	0	0%	1	7.69%	1	7.69%	3	23.08%	1	7.69%	7	53.85%

2001Parl	k Vista Community High									1	Test Score	:S					
					Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ART and DESIGN AS LVL	5	55.56%	9	0	0%	0	0%	0	0%	0	0%	3	33.33%	2	22.22%	4	44.44%
BUSINESS STUDIES- AS LVL	1	50.00%	2	0	0%	0	0%	0	0%	0	0%	0	0%	1	50.00%	1	50.00%
CHEMISTRY	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
ENGLISH GENERAL PAPER	392	84.67%	463	70	15.12%	0	0%	74	15.98%	96	20.73%	90	19.44%	62	13.39%	71	15.33%
ENGLISH LANGUAGE - AS LEVEL	270	91.53%	295	41	13.90%	0	0%	56	18.98%	67	22.71%	63	21.36%	43	14.58%	25	8.47%
ENVIROMENTAL MANAGEMENT	149	96.13%	155	36	23.23%	0	0%	36	23.23%	32	20.65%	31	20.00%	14	9.03%	6	3.87%
FRENCH- AS LVL	3	75.00%	4	0	0%	0	0%	1	25.00%	0	0%	0	0%	2	50.00%	1	25.00%
GLOBAL PERSPEC & RESEAR 1	101	100.00%	101	40	39.60%	0	0%	36	35.64%	16	15.84%	5	4.95%	4	3.96%	0	0%
HISTORY- AS Level	236	68.60%	344	4	1.16%	0	0%	30	8.72%	59	17.15%	71	20.64%	72	20.93%	108	31.40%
LITERATURE	238	95.58%	249	36	14.46%	0	0%	41	16.47%	64	25.70%	70	28.11%	27	10.84%	11	4.42%
MARINE SCIENCE- A LVL	158	100.00%	158	17	10.76%	2	1.27%	33	20.89%	60	37.97%	32	20.25%	14	8.86%	0	0%
MARINE SCIENCE- AS LVL	75	85.23%	88	2	2.27%	0	0%	12	13.64%	24	27.27%	21	23.86%	16	18.18%	13	14.77%
MEDIA STUDIES-AS LVL	34	82.93%	41	1	2.44%	0	0%	4	9.76%	9	21.95%	10	24.39%	10	24.39%	7	17.07%
SOCIOLOGY - AS Level	87	89.69%	97	20	20.62%	0	0%	22	22.68%	24	24.74%	12	12.37%	9	9.28%	10	10.31%
SPANISH	62	95.38%	65	12	18.46%	0	0%	12	18.46%	20	30.77%	13	20.00%	5	7.69%	3	4.62%
THINKING SKILLS - AS Level	47	94.00%	50	9	18.00%	0	0%	9	18.00%	11	22.00%	11	22.00%	7	14.00%	3	6.00%
TRAVEL & TOURISM 1	46	80.70%	57	3	5.26%	0	0%	5	8.77%	9	15.79%	19	33.33%	10	17.54%	11	19.30%

2191—Welling	gton High									T	est Scores	;					
	,				Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BUSINESS STUDIES- AS LVL	36	65.45%	55	3	5.45%	0	0%	6	10.91%	8	14.55%	11	20.00%	8	14.55%	19	34.55%
CLASSICAL STUDIES	43	64.18%	67	3	4.48%	0	0%	2	2.99%	8	11.94%	9	13.43%	21	31.34%	24	35.82%
CLASSICAL STUDIES-A LEVEL	59	100.00%	59	8	13.56%	1	1.69%	11	18.64%	17	28.81%	13	22.03%	9	15.25%	0	0%
DIGITAL MEDIA AND DESIGN	3	75.00%	4	0	0%	0	0%	0	0%	0	0%	2	50.00%	1	25.00%	1	25.00%
ENGLISH GENERAL PAPER	407	89.06%	457	54	11.82%	0	0%	77	16.85%	96	21.01%	107	23.41%	73	15.97%	50	10.94%
ENGLISH LANGUAGE - AS LEVEL	309	84.89%	364	26	7.14%	0	0%	37	10.16%	80	21.98%	94	25.82%	72	19.78%	55	15.11%
ENVIROMENTAL MANAGEMENT	187	94.92%	197	30	15.23%	0	0%	44	22.34%	59	29.95%	40	20.30%	14	7.11%	10	5.08%
FRENCH- AS LVL	5	83.33%	6	0	0%	0	0%	1	16.67%	1	16.67%	2	33.33%	1	16.67%	1	16.67%
GLOBAL PERSPEC & RESEAR 1	221	99.55%	222	62	27.93%	0	0%	79	35.59%	59	26.58%	17	7.66%	4	1.80%	1	0.45%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	45	100.00%	45	6	13.33%	6	13.33%	15	33.33%	13	28.89%	5	11.11%	0	0%	0	0%
HISTORY- A Level	51	100.00%	51	0	0%	0	0%	1	1.96%	10	19.61%	23	45.10%	17	33.33%	0	0%
HISTORY- AS Level	317	65.90%	481	27	5.61%	0	0%	48	9.98%	65	13.51%	97	20.17%	80	16.63%	164	34.10%
LANGUAGE	170	100.00%	170	4	2.35%	0	0%	18	10.59%	59	34.71%	60	35.29%	29	17.06%	0	0%
LITERATURE	231	85.56%	270	15	5.56%	0	0%	28	10.37%	66	24.44%	75	27.78%	47	17.41%	39	14.44%
MARINE SCIENCE- A LVL	20	100.00%	20	1	5.00%	0	0%	2	10.00%	4	20.00%	8	40.00%	5	25.00%	0	0%
MARINE SCIENCE- AS LVL	102	85.00%	120	8	6.67%	0	0%	16	13.33%	15	12.50%	34	28.33%	29	24.17%	18	15.00%
MATHEMATICS	42	97.67%	43	11	25.58%	0	0%	10	23.26%	13	30.23%	5	11.63%	3	6.98%	1	2.33%
MEDIA STUDIES-AS LVL	43	78.18%	55	0	0%	0	0%	3	5.45%	6	10.91%	14	25.45%	20	36.36%	12	21.82%
PHYSICAL EDUCATION	8	47.06%	17	1	5.88%	0	0%	0	0%	1	5.88%	2	11.76%	4	23.53%	9	52.94%
PSYCHOLOGY - A Level	22	100.00%	22	0	0%	0	0%	1	4.55%	6	27.27%	8	36.36%	7	31.82%	0	0%
PSYCHOLOGY - AS Level	71	54.20%	131	3	2.29%	0	0%	11	8.40%	10	7.63%	16	12.21%	31	23.66%	60	45.80%
SOCIOLOGY - AS Level	37	37.37%	99	2	2.02%	0	0%	4	4.04%	6	6.06%	11	11.11%	14	14.14%	62	62.63%
SOCIOLOGY A Lvl	24	100.00%	24	0	0%	0	0%	4	16.67%	2	8.33%	7	29.17%	11	45.83%	0	0%
SPANISH	60	100.00%	60	29	48.33%	0	0%	15	25.00%	11	18.33%	4	6.67%	1	1.67%	0	0%
SPANISH LITERATURE	42	75.00%	56	10	17.86%	0	0%	13	23.21%	11	19.64%	7	12.50%	1	1.79%	14	25.00%
THINKING SKILLS - A Level	9	100.00%	9	0	0%	1	11.11%	0	0%	0	0%	4	44.44%	4	44.44%	0	0%
THINKING SKILLS - AS Level	4	66.67%	6	0	0%	0	0%	0	0%	0	0%	1	16.67%	3	50.00%	2	33.33%
TRAVEL & TOURISM 1	50	84.75%	59	7	11.86%	0	0%	9	15.25%	14	23.73%	12	20.34%	8	13.56%	9	15.25%

2201W	illiam T. Dwyer High								Test	Score	es				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS STUDIES- AS LVL	39	50.00%	78	4	5.13%	2	2.56%	16	20.51%	11	14.10%	6	7.69%	39	50.00%
ENGLISH GENERAL PAPER	344	90.53%	380	48	12.63%	64	16.84%	89	23.42%	81	21.32%	62	16.32%	36	9.47%
ENGLISH LANGUAGE - A LEVEL	42	100.00%	42	0	0%	6	14.29%	9	21.43%	11	26.19%	16	38.10%	0	0%
ENGLISH LANGUAGE - AS LEVEL	150	87.21%	172	13	7.56%	46	26.74%	50	29.07%	24	13.95%	17	9.88%	22	12.79%
GLOBAL PERSPEC & RESEAR 1	171	100.00%	171	39	22.81%	55	32.16%	42	24.56%	29	16.96%	6	3.51%	0	0%
HISTORY- AS Level	112	49.78%	225	11	4.89%	19	8.44%	23	10.22%	32	14.22%	27	12.00%	113	50.22%
LITERATURE	47	83.93%	56	3	5.36%	7	12.50%	9	16.07%	11	19.64%	17	30.36%	9	16.07%
MARINE SCIENCE- AS LVL	73	45.91%	159	2	1.26%	4	2.52%	7	4.40%	34	21.38%	26	16.35%	86	54.09%
PSYCHOLOGY - AS Level	22	70.97%	31	3	9.68%	3	9.68%	3	9.68%	4	12.90%	9	29.03%	9	29.03%
SOCIOLOGY - AS Level	18	39.13%	46	1	2.17%	1	2.17%	2	4.35%	3	6.52%	11	23.91%	28	60.87%
SPANISH	13	81.25%	16	4	25.00%	4	25.00%	3	18.75%	0	0%	2	12.50%	3	18.75%
THINKING SKILLS - AS Level	48	94.12%	51	3	5.88%	8	15.69%	14	27.45%	17	33.33%	6	11.76%	3	5.88%
TRAVEL & TOURISM 1	12	38.71%	31	0	0%	0	0%	3	9.68%	4	12.90%	5	16.13%	19	61.29%

2301G	ilades Central High								Tes	t Sco	ores				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	<u></u> %
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ENGLISH GENERAL PAPER	37	51.39%	72	0	0%	2	2.78%	3	4.17%	9	12.50%	23	31.94%	35	48.61%
ENGLISH LANGUAGE - A LEVEL	22	100.00%	22	1	4.55%	1	4.55%	3	13.64%	9	40.91%	8	36.36%	0	0%
ENGLISH LANGUAGE - AS LEVEL	19	31.67%	60	0	0%	1	1.67%	3	5.00%	6	10.00%	9	15.00%	41	68.33%
GLOBAL PERSPEC & RESEAR 1	12	63.16%	19	0	0%	0	0%	5	26.32%	1	5.26%	6	31.58%	7	36.84%
HISTORY- AS Level	12	21.05%	57	0	0%	1	1.75%	1	1.75%	2	3.51%	8	14.04%	45	78.95%
LITERATURE	0	0.00%	9	0	0%	0	0%	0	0%	0	0%	0	0%	9	100.00%
MARINE SCIENCE- AS LVL	25	69.44%	36	0	0%	3	8.33%	5	13.89%	7	19.44%	10	27.78%	11	30.56%
MEDIA STUDIES-AS LVL	1	20.00%	5	0	0%	0	0%	0	0%	0	0%	1	20.00%	4	80.00%
PSYCHOLOGY - AS Level	3	20.00%	15	0	0%	0	0%	2	13.33%	0	0%	1	6.67%	12	80.00%
SPANISH	9	100.00%	9	4	44.44%	3	33.33%	2	22.22%	0	0%	0	0%	0	0%
TRAVEL & TOURISM 1	0	0.00%	7	0	0%	0	0%	0	0%	0	0%	0	0%	7	100.00%

2331—Royal	Palm Beach Community Hig								Test	Score	es				
	, , ,				Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
DESIGN & TECHNOLOGY	15	65.22%	23	0	0%	0	0%	1	4.35%	3	13.04%	11	47.83%	8	34.78%
ENGLISH GENERAL PAPER	236	73.98%	319	19	5.96%	27	8.46%	53	16.61%	71	22.26%	66	20.69%	83	26.02%
ENGLISH LANGUAGE - AS LEVEL	119	61.98%	192	4	2.08%	12	6.25%	20	10.42%	39	20.31%	44	22.92%	73	38.02%
ENVIROMENTAL MANAGEMENT	20	83.33%	24	2	8.33%	1	4.17%	8	33.33%	6	25.00%	3	12.50%	4	16.67%
GLOBAL PERSPEC & RESEAR 1	64	88.89%	72	0	0%	10	13.89%	16	22.22%	19	26.39%	19	26.39%	8	11.11%
HISTORY- AS Level	65	46.10%	141	2	1.42%	7	4.96%	9	6.38%	17	12.06%	30	21.28%	76	53.90%
LITERATURE	81	52.26%	155	3	1.94%	5	3.23%	14	9.03%	24	15.48%	35	22.58%	74	47.74%
MARINE SCIENCE- AS LVL	51	82.26%	62	5	8.06%	12	19.35%	11	17.74%	14	22.58%	9	14.52%	11	17.74%
MATHEMATICS	16	29.63%	54	2	3.70%	0	0%	4	7.41%	3	5.56%	7	12.96%	38	70.37%
MEDIA STUDIES-AS LVL	50	42.74%	117	2	1.71%	13	11.11%	13	11.11%	8	6.84%	14	11.97%	67	57.26%
PSYCHOLOGY - AS Level	28	47.46%	59	2	3.39%	2	3.39%	7	11.86%	5	8.47%	12	20.34%	31	52.54%
THINKING SKILLS - AS Level	34	77.27%	44	1	2.27%	2	4.55%	7	15.91%	14	31.82%	10	22.73%	10	22.73%

2361Boyn	ton Beach Community High								Test	Scor	es				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ENGLISH GENERAL PAPER	51	79.69%	64	3	4.69%	5	7.81%	11	17.19%	22	34.38%	10	15.62%	13	20.31%
ENGLISH LANGUAGE - AS LEVEL	30	40.00%	75	1	1.33%	1	1.33%	4	5.33%	13	17.33%	11	14.67%	45	60.00%
FRENCH- AS LVL	2	100.00%	2	1	50.00%	0	0%	1	50.00%	0	0%	0	0%	0	0%
GLOBAL PERSPEC & RESEAR 1	15	50.00%	30	0	0%	0	0%	0	0%	3	10.00%	12	40.00%	15	50.00%
HISTORY- AS Level	7	31.82%	22	0	0%	0	0%	0	0%	2	9.09%	5	22.73%	15	68.18%
LITERATURE	36	59.02%	61	0	0%	0	0%	7	11.48%	16	26.23%	13	21.31%	25	40.98%
MARINE SCIENCE- AS LVL	22	51.16%	43	0	0%	0	0%	5	11.63%	7	16.28%	10	23.26%	21	48.84%
MEDIA STUDIES-AS LVL	13	48.15%	27	0	0%	0	0%	4	14.81%	6	22.22%	3	11.11%	14	51.85%
SPANISH	12	100.00%	12	5	41.67%	2	16.67%	0	0%	3	25.00%	2	16.67%	0	0%

2631Pa	alm Beach Central High									To	est Scores						
	an saan sanaa ngn				Α		AA		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
BIOLOGY	25	58.14%	43	0	0%	0	0%	2	4.65%	7	16.28%	7	16.28%	9	20.93%	18	41.86%
BIOLOGY 2	10	100.00%	10	0	0%	0	0%	3	30.00%	2	20.00%	1	10.00%	4	40.00%	0	0%
BUSINESS STUDIES- AS LVL	16	26.23%	61	0	0%	0	0%	1	1.64%	2	3.28%	4	6.56%	9	14.75%	45	73.77%
CHEMISTRY	23	88.46%	26	0	0%	0	0%	1	3.85%	4	15.38%	11	42.31%	7	26.92%	3	11.54%
ENGLISH GENERAL PAPER	342	90.00%	380	45	11.84%	0	0%	52	13.68%	84	22.11%	87	22.89%	74	19.47%	38	10.00%
ENGLISH LANGUAGE - A LEVEL	169	100.00%	169	15	8.88%	2	1.18%	31	18.34%	48	28.40%	47	27.81%	26	15.38%	0	0%
ENGLISH LANGUAGE - AS LEVEL	229	81.79%	280	8	2.86%	0	0%	22	7.86%	52	18.57%	82	29.29%	65	23.21%	52	18.57%
ENVIROMENTAL MANAGEMENT	14	82.35%	17	0	0%	0	0%	2	11.76%	3	17.65%	5	29.41%	4	23.53%	3	17.65%
GLOBAL PERSPEC & RESEAR 1	278	99.29%	280	68	24.29%	0	0%	110	39.29%	61	21.79%	28	10.00%	11	3.93%	2	0.71%
HISTORY- A Level	35	100.00%	35	0	0%	0	0%	4	11.43%	3	8.57%	15	42.86%	13	37.14%	0	0%
HISTORY- AS Level	370	73.85%	501	10	2.00%	0	0%	62	12.38%	87	17.37%	114	22.75%	101	20.16%	135	26.95%
LANGUAGE	7	100.00%	7	0	0%	1	14.29%	3	42.86%	3	42.86%	0	0%	0	0%	0	0%
LITERATURE	136	85.00%	160	10	6.25%	0	0%	15	9.38%	29	18.12%	48	30.00%	34	21.25%	24	15.00%
MARINE SCIENCE- A LVL	79	100.00%	79	0	0%	0	0%	3	3.80%	17	21.52%	33	41.77%	26	32.91%	0	0%
MARINE SCIENCE- AS LVL	188	69.12%	272	10	3.68%	0	0%	31	11.40%	43	15.81%	48	17.65%	56	20.59%	84	30.88%
MATHEMATICS	28	53.85%	52	1	1.92%	0	0%	4	7.69%	2	3.85%	4	7.69%	17	32.69%	24	46.15%
MEDIA STUDIES-AS LVL	33	86.84%	38	1	2.63%	0	0%	4	10.53%	9	23.68%	10	26.32%	9	23.68%	5	13.16%
PHYSICAL EDUCATION	23	74.19%	31	0	0%	0	0%	3	9.68%	5	16.13%	4	12.90%	11	35.48%	8	25.81%
PHYSICS	12	38.71%	31	3	9.68%	0	0%	0	0%	0	0%	3	9.68%	6	19.35%	19	61.29%
PSYCHOLOGY - A Level	21	100.00%	21	0	0%	0	0%	1	4.76%	4	19.05%	7	33.33%	9	42.86%	0	0%
PSYCHOLOGY - AS Level	91	52.60%	173	9	5.20%	0	0%	8	4.62%	26	15.03%	18	10.40%	30	17.34%	82	47.40%
SOCIOLOGY - AS Level	14	35.90%	39	1	2.56%	0	0%	1	2.56%	3	7.69%	5	12.82%	4	10.26%	25	64.10%
SPANISH	39	97.50%	40	18	45.00%	0	0%	8	20.00%	5	12.50%	3	7.50%	5	12.50%	1	2.50%
THINKING SKILLS - AS Level	63	92.65%	68	11	16.18%	0	0%	13	19.12%	21	30.88%	14	20.59%	4	5.88%	5	7.35%
TRAVEL & TOURISM 1	54	83.08%	65	6	9.23%	0	0%	11	16.92%	16	24.62%	12	18.46%	9	13.85%	11	16.92%

3251West	Boca Raton Community High	l							Test S	core	S				
1					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS	10	100.00%	10	0	0%	1	10.00%	0	0%	5	50.00%	4	40.00%	0	0%
BUSINESS STUDIES- AS LVL	33	40.24%	82	1	1.22%	3	3.66%	9	10.98%	12	14.63%	8	9.76%	49	59.76%
ENGLISH GENERAL PAPER	276	98.57%	280	68	24.29%	69	24.64%	73	26.07%	44	15.71%	22	7.86%	4	1.43%
ENGLISH LANGUAGE - AS LEVEL	215	86.69%	248	15	6.05%	23	9.27%	66	26.61%	72	29.03%	39	15.73%	33	13.31%
GLOBAL PERSPEC & RESEAR 1	95	98.96%	96	21	21.88%	28	29.17%	32	33.33%	12	12.50%	2	2.08%	1	1.04%
HISTORY- AS Level	144	63.16%	228	3	1.32%	26	11.40%	41	17.98%	32	14.04%	42	18.42%	84	36.84%
MARINE SCIENCE- AS LVL	120	67.04%	179	6	3.35%	6	3.35%	23	12.85%	41	22.91%	44	24.58%	59	32.96%
MATHEMATICS	120	82.76%	145	12	8.28%	12	8.28%	33	22.76%	33	22.76%	30	20.69%	25	17.24%
MEDIA STUDIES-AS LVL	88	86.27%	102	4	3.92%	26	25.49%	28	27.45%	16	15.69%	14	13.73%	14	13.73%
SPANISH	39	100.00%	39	16	41.03%	11	28.21%	6	15.38%	3	7.69%	3	7.69%	0	0%
THINKING SKILLS - AS Level	50	98.04%	51	5	9.80%	9	17.65%	18	35.29%	8	15.69%	10	19.61%	1	1.96%
TRAVEL & TOURISM 1	66	64.08%	103	12	11.65%	11	10.68%	18	17.48%	12	11.65%	13	12.62%	37	35.92%

3861—Seminole R	idge Community High								Tes	t Scor	res				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ART and DESIGN AS LVL	2	100.00%	2	0	0%	0	0%	0	0%	2	100.00%	0	0%	0	0%
BUSINESS STUDIES- AS LVL	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
COMP SCI-AS LEVEL	2	18.18%	11	0	0%	0	0%	0	0%	0	0%	2	18.18%	9	81.82%
ENGLISH GENERAL PAPER	250	94.70%	264	41	15.53%	53	20.08%	70	26.52%	52	19.70%	34	12.88%	14	5.30%
ENGLISH LANGUAGE - AS LEVEL	195	87.05%	224	6	2.68%	30	13.39%	50	22.32%	59	26.34%	51	22.77%	29	12.95%
ENVIROMENTAL MANAGEMENT	108	92.31%	117	16	13.68%	30	25.64%	29	24.79%	26	22.22%	7	5.98%	9	7.69%
FRENCH- AS LVL	2	66.67%	3	2	66.67%	0	0%	0	0%	0	0%	0	0%	1	33.33%
GLOBAL PERSPEC & RESEAR 1	124	97.64%	127	39	30.71%	36	28.35%	39	30.71%	7	5.51%	3	2.36%	3	2.36%
GLOBAL PERSPECTIVES & RESEARCH-A LEVEL	4	100.00%	4	0	0%	1	25.00%	2	50.00%	0	0%	1	25.00%	0	0%
HISTORY- AS Level	190	59.19%	321	4	1.25%	25	7.79%	53	16.51%	59	18.38%	50	15.58%	132	41.12%
LITERATURE	122	89.71%	136	11	8.09%	8	5.88%	28	20.59%	38	27.94%	37	27.21%	14	10.29%
MARINE SCIENCE- A LVL	22	100.00%	22	1	4.55%	3	13.64%	4	18.18%	5	22.73%	9	40.91%	0	0%
MARINE SCIENCE- AS LVL	84	89.36%	94	8	8.51%	18	19.15%	22	23.40%	19	20.21%	17	18.09%	10	10.64%
MATHEMATICS	28	57.14%	49	3	6.12%	4	8.16%	5	10.20%	9	18.37%	7	14.29%	21	42.86%
MEDIA STUDIES-A LVL	1	100.00%	1	0	0%	0	0%	0	0%	1	100.00%	0	0%	0	0%
MEDIA STUDIES-AS LVL	23	88.46%	26	0	0%	1	3.85%	8	30.77%	6	23.08%	8	30.77%	3	11.54%
PSYCHOLOGY - AS Level	14	53.85%	26	1	3.85%	0	0%	5	19.23%	4	15.38%	4	15.38%	12	46.15%
SOCIOLOGY - AS Level	3	18.75%	16	0	0%	0	0%	0	0%	0	0%	3	18.75%	13	81.25%
SOCIOLOGY A Lvl	9	100.00%	9	0	0%	0	0%	1	11.11%	4	44.44%	4	44.44%	0	0%
SPANISH	38	86.36%	44	11	25.00%	7	15.91%	7	15.91%	6	13.64%	7	15.91%	6	13.64%
SPANISH LITERATURE	5	83.33%	6	0	0%	1	16.67%	3	50.00%	0	0%	1	16.67%	1	16.67%
THINKING SKILLS - A Level	27	100.00%	27	5	18.52%	0	0%	8	29.63%	9	33.33%	5	18.52%	0	0%
THINKING SKILLS - AS Level	3	50.00%	6	0	0%	0	0%	0	0%	1	16.67%	2	33.33%	3	50.00%
TRAVEL & TOURISM 1	10	55.56%	18	0	0%	2	11.11%	0	0%	3	16.67%	5	27.78%	8	44.44%
TRAVEL & TOURISM 2	65	100.00%	65	5	7.69%	10	15.38%	21	32.31%	15	23.08%	14	21.54%	0	0%

4013Some	erset Academy Canyons High									T	est Scores	;					
10.10					Α		AA		В		С		D		Е		U
				#	%	#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ENGLISH GENERAL PAPER	172	91.49%	188	20	10.64%	0	0%	32	17.02%	47	25.00%	47	25.00%	26	13.83%	16	8.51%
ENGLISH LANGUAGE - AS LEVEL	93	75.00%	124	2	1.61%	0	0%	6	4.84%	22	17.74%	33	26.61%	30	24.19%	31	25.00%
FRENCH- AS LVL	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
GLOBAL PERSPEC & RESEAR 1	77	100.00%	77	28	36.36%	0	0%	22	28.57%	17	22.08%	8	10.39%	2	2.60%	0	0%
HISTORY- AS Level	28	68.29%	41	1	2.44%	0	0%	3	7.32%	7	17.07%	9	21.95%	8	19.51%	13	31.71%
LITERATURE	60	68.97%	87	3	3.45%	0	0%	3	3.45%	10	11.49%	21	24.14%	23	26.44%	27	31.03%
MARINE SCIENCE- AS LVL	99	68.75%	144	8	5.56%	0	0%	16	11.11%	18	12.50%	26	18.06%	31	21.53%	45	31.25%
MATHEMATICS	4	26.67%	15	0	0%	0	0%	0	0%	0	0%	1	6.67%	3	20.00%	11	73.33%
MEDIA STUDIES-AS LVL	47	82.46%	57	0	0%	0	0%	6	10.53%	14	24.56%	15	26.32%	12	21.05%	10	17.54%
PSYCHOLOGY - AS Level	61	64.89%	94	17	18.09%	0	0%	8	8.51%	15	15.96%	8	8.51%	13	13.83%	33	35.11%
SOCIOLOGY - AS Level	9	60.00%	15	0	0%	0	0%	0	0%	2	13.33%	1	6.67%	6	40.00%	6	40.00%
SOCIOLOGY A LVI	27	100.00%	27	5	18.52%	2	7.41%	6	22.22%	7	25.93%	6	22.22%	1	3.70%	0	0%
SPANISH	23	88.46%	26	7	26.92%	0	0%	7	26.92%	5	19.23%	4	15.38%	0	0%	3	11.54%
THINKING SKILLS - AS Level	93	72.09%	129	6	4.65%	0	0%	12	9.30%	17	13.18%	24	18.60%	34	26.36%	36	27.91%
TRAVEL & TOURISM 1	38	82.61%	46	1	2.17%	0	0%	0	0%	8	17.39%	18	39.13%	11	23.91%	8	17.39%

0151	Suncoast High								Test S	cores					
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ENGLISH GENERAL PAPER	411	90.33%	455	77	16.92%	99	21.76%	100	21.98%	87	19.12%	48	10.55%	44	9.67%
LITERATURE	170	80.57%	211	21	9.95%	26	12.32%	40	18.96%	44	20.85%	39	18.48%	41	19.43%

0395A. \	W. Dreyfoos School Of Arts								Test S	core	S				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
ART and DESIGN AS LVL	50	73.53%	68	2	2.94%	7	10.29%	4	5.88%	16	23.53%	21	30.88%	18	26.47%
ENGLISH GENERAL PAPER	272	99.63%	273	81	29.67%	75	27.47%	60	21.98%	44	16.12%	12	4.40%	1	0.37%
ENGLISH LANGUAGE - AS LEVEL	282	95.59%	295	62	21.02%	56	18.98%	74	25.08%	61	20.68%	29	9.83%	13	4.41%
GLOBAL PERSPEC & RESEAR 1	12	100.00%	12	6	50.00%	5	41.67%	1	8.33%	0	0%	0	0%	0	0%
MEDIA STUDIES-AS LVL	18	94.74%	19	2	10.53%	3	15.79%	4	21.05%	7	36.84%	2	10.53%	1	5.26%

0581	-Forest Hill High								Tes	t Scoi	es				
					Α		В		С		D		E		U
				#	%	#	%	#	%	#	%	#	%	#	%
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest												
BUSINESS STUDIES- AS LVL	6	11.32%	53	0	0%	0	0%	3	5.66%	3	5.66%	0	0%	47	88.68%
COMP SCI-AS LEVEL	1	4.00%	25	0	0%	0	0%	0	0%	1	4.00%	0	0%	24	96.00%
DIGITAL MEDIA AND DESIGN	27	77.14%	35	2	5.71%	2	5.71%	6	17.14%	9	25.71%	8	22.86%	8	22.86%
ENGLISH GENERAL PAPER	274	72.87%	376	14	3.72%	30	7.98%	48	12.77%	86	22.87%	96	25.53%	102	27.13%
ENGLISH LANGUAGE - AS LEVEL	101	50.00%	202	1	0.50%	9	4.46%	12	5.94%	38	18.81%	41	20.30%	101	50.00%
GLOBAL PERSPEC & RESEAR 1	60	92.31%	65	6	9.23%	9	13.85%	19	29.23%	16	24.62%	10	15.38%	5	7.69%
HISTORY- AS Level	99	37.22%	266	0	0%	4	1.50%	8	3.01%	31	11.65%	56	21.05%	168	63.16%
LITERATURE	29	48.33%	60	1	1.67%	0	0%	7	11.67%	12	20.00%	9	15.00%	31	51.67%
MARINE SCIENCE- AS LVL	70	50.72%	138	4	2.90%	4	2.90%	13	9.42%	20	14.49%	29	21.01%	68	49.28%
PSYCHOLOGY - AS Level	0	0.00%	1	0	0%	0	0%	0	0%	0	0%	0	0%	1	100.00%
SOCIOLOGY - AS Level	12	15.00%	80	1	1.25%	0	0%	1	1.25%	5	6.25%	5	6.25%	68	85.00%
SPANISH	2	50.00%	4	0	0%	0	0%	2	50.00%	0	0%	0	0%	2	50.00%
THINKING SKILLS - AS Level	63	70.79%	89	3	3.37%	2	2.25%	13	14.61%	16	17.98%	29	32.58%	26	29.21%

1771—Pahokee Middle -Senior High				Test Scores													
					A B		С		D		E		U				
			#	%	#	%	#	%	#	%	#	%	#	%			
Subject Name	St Count AA-	% AA-E	Total Students per Subtest														
BIOLOGY	0	0.00%	28	0	0%	0	0%	0	0%	0	0%	0	0%	28	100.00%		
CHEMISTRY	0	0.00%	9	0	0%	0	0%	0	0%	0	0%	0	0%	9	100.00%		
ENGLISH GENERAL PAPER	22	75.86%	29	3	10.34%	1	3.45%	5	17.24%	6	20.69%	7	24.14%	7	24.14%		
ENGLISH LANGUAGE - AS LEVEL	13	48.15%	27	0	0%	0	0%	1	3.70%	4	14.81%	8	29.63%	14	51.85%		
MARINE SCIENCE- AS LVL	1	20.00%	5	0	0%	0	0%	0	0%	0	0%	1	20.00%	4	80.00%		

2181—Olympic Heights High				Test Scores													
					Α		В	С		D		E		U			
				#	%	#	%	#	%	#	%	#	%	#	%		
Subject Name	St Count AA-E	% AA-E	Total Students per Subtest														
ART and DESIGN AS LVL	3	30.00%	10	0	0%	1	10.00%	1	10.00%	0	0%	1	10.00%	7	70.00%		
BUSINESS STUDIES- AS LVL	15	48.39%	31	1	3.23%	2	6.45%	4	12.90%	4	12.90%	4	12.90%	16	51.61%		
COMP SCI-AS LEVEL	4	15.38%	26	1	3.85%	1	3.85%	1	3.85%	0	0%	1	3.85%	22	84.62%		
ENGLISH GENERAL PAPER	405	93.53%	433	55	12.70%	75	17.32%	110	25.40%	110	25.40%	55	12.70%	28	6.47%		
ENGLISH LANGUAGE - AS LEVEL	240	84.21%	285	15	5.26%	29	10.18%	67	23.51%	77	27.02%	52	18.25%	45	15.79%		
GLOBAL PERSPEC & RESEAR 1	148	97.37%	152	12	7.89%	29	19.08%	61	40.13%	34	22.37%	12	7.89%	4	2.63%		
LITERATURE	178	82.79%	215	1	0.47%	9	4.19%	41	19.07%	65	30.23%	62	28.84%	37	17.21%		
MARINE SCIENCE- A LVL	193	100.00%	193	8	4.15%	25	12.95%	38	19.69%	65	33.68%	57	29.53%	0	0%		
MARINE SCIENCE- AS LVL	14	22.22%	63	0	0%	0	0%	0	0%	1	1.59%	13	20.63%	49	77.78%		
MATHEMATICS	5	29.41%	17	0	0%	2	11.76%	0	0%	3	17.65%	0	0%	12	70.59%		
PSYCHOLOGY - AS Level	182	88.35%	206	30	14.56%	29	14.08%	34	16.50%	51	24.76%	38	18.45%	24	11.65%		
SOCIOLOGY - AS Level	37	78.72%	47	7	14.89%	9	19.15%	10	21.28%	7	14.89%	4	8.51%	10	21.28%		
SOCIOLOGY A Lvl	5	100.00%	5	0	0%	0	0%	0	0%	4	80.00%	1	20.00%	0	0%		
SPANISH	52	100.00%	52	18	34.62%	12	23.08%	12	23.08%	6	11.54%	4	7.69%	0	0%		